Pion 40GeV w/ and w/o PP

Naoki Tsuj
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Hit map w/ PP
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Hit map w/o PP
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hitEnergy of 1 channel on beam line

Pion40GeV Energy distribution of channel at I=12, J=14, K=1
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Pion40GeV Energy distribution of channel at 1=12, J=14, K=20
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Problems

Shower profile has some fluctuation.
Hit map have some missing of channels.

hitEnergy at 1 channel has some fluctuation at bins.

Nest task

Apply particle separation
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cogZ Pion40GeV w/ and w/o PP

Some parameters

hitEnergy Pion40GeV w/ and w/o PP
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. Sushiro

. My favorite sushi train

. Reasonable ¥1,000-3,000

.+ https://www.akindo-sushiro.co.jp/
en/

. Kaisen Misaki-kou

. Reasonable - Medium
¥1,500-3,000

- https://www.kyotaru.co.jp/

kaisen_misakiko/ m
L

£ ¢

t—IL7zx7
X = 31— (Menu) >

RBERD 7 LT — | REBER )

G » DS - NTHAMRS SR 25 S NSz a2 7 hE LTWET



. There are rich sushi restaurant around

Stationary sushi

Sushi zanmai

- ¥3,000~

http://honyaku.j-server.com/
LUCSUSHIZA/ns/tl.cgi/http://
www.kiyomura.co.jp/? S

SLANG=ja&TLANG=en&XMODE=0& — /L/

XJSID=0 ‘ i 2
e

Hide-sushi
. ¥3,000~

http://www.kyoueisougou.com/
tenpo/ueno/ueno_menu.html

Tsukiji

If you have enough money, let’s try!




